-Alpha 450- zum

Fundamentplan

Aufschrauben
Typbreite =
Sperrbalken-

Befestigung Auflagestiitze |lange A B F
Aufschraubplatte 2000 1960 3195 885 2195 4700
Aufschraubplatte 2500 2460 3695 885 2695 5700
Aufschraubplatte 3000 2960 4195 885 3195 6700
Aufschraubplatte 3500 3460 4695 885 3695 7700
Aufschraubplatte 4000 3960 5195 885 4195 8700
Aufschraubplatte 4500 4460 5695 885 4695 9700
Aufschraubplatte 5000 4960 6195 885 5195 10700
Aufschraubplatte 5500 5460 6695 885 5695 11700
Aufschraubplatte 6000 5960 7195 885 6195 12700
Aufschraubplatte 6500 6460 7695 885 6695 13700
Aufschraubplatte 7000 6960 8195 885 7195 14700
Aufschraubplatte 7500 7460 8695 885 7695 15700
Aufschraubplatte 8000 7960 9195 885 8195 16700
Pendelstitze 2000 2175 3195 885 0 4700
Pendelstiitze 2500 2675 3695 885 0 5700
Pendelstitze 3000 3175 4195 885 0 6700
Pendelstiitze 3500 3675 4695 885 0 7700
Pendelstitze 4000 4175 5195 885 0 8700
Pendelstitze 4500 4675 5695 885 0 9700
Pendelstitze 5000 5175 6195 885 0 10700
Pendelstiitze 5500 5675 6695 885 0 11700
Pendelstitze 6000 6175 7195 885 0 12700
Pendelstiitze 6500 6675 7695 885 0 13700
Pendelstitze 7000 7175 8195 885 0 14700
Pendelstiitze 7500 7675 8695 885 0 15700
Pendelstitze 8000 8175 9195 885 0 16700
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-Alpha 450- zum

Einbetonieren Fundamentplan
Typbreite =
Sperrbalken-

Befestigung Auflagestiitze [lange A B C D F
Aufschraubplatte 3000 3105 4195 885 3195 6700
Aufschraubplatte 3500 3605 4695 885 3695 7700
Aufschraubplatte 4000 4105 5195 885 4195 8700
Aufschraubplatte 4500 4605 5695 885 4695 9700
Aufschraubplatte 5000 5105 6195 885 5195 10700
Aufschraubplatte 5500 5605 6695 885 5695 11700
Aufschraubplatte 6000 6105 7195 885 6195 12700
Aufschraubplatte 6500 6605 7695 885 6695 13700
Aufschraubplatte 7000 7105 8195 885 7195 14700
Aufschraubplatte 7500 7605 8695 885 7695 15700
Aufschraubplatte 8000 8105 9195 885 8195 16700
Pendelstiltze 3000 3260 4195 885 0 6700
Pendelstutze 3500 3760 4695 885 0 7700
Pendelstitze 4000 4260 5195 885 0 8700
Pendelstutze 4500 4760 5695 885 0 9700
Pendelstitze 5000 5260 6195 885 0 10700
Pendelstiutze 5500 5760 6695 885 0 11700
Pendelstiltze 6000 6260 7195 885 0 12700
Pendelstutze 6500 6760 7695 885 0 13700
Pendelstiltze 7000 7260 8195 885 0 14700
Pendelstutze 7500 7760 8695 885 0 15700
Pendelstitze 8000 8260 9195 885 0 16700
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